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Question Number : 1 Question Id : 518120603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “Tulip’ is called ‘Daisy’, ‘Daisy’ is called ‘Marigold’, ‘Marigold’ is called ‘Lotus’, ‘Lotus’ is called ‘Rose’, ‘Rose’ is called ‘Lily’ and ‘Lily’ is
called ‘Mogra’ then which one of the following is national flower of India?

Options :

1. * Marigold

2. # Lotus

3. ¥ Rose

4. % Lily

Question Number : 1 Question Id : 518120603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Tiar

2. % HHJ

3. ¢ A

4. % forcit

Question Number : 2 Question Id : 518120604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if ‘ROHIT’ is written as ‘UKKSW’, ‘MANJU”’ is written as ‘VLQER’ then how ‘NIRAJ’ will be written in that code?
Options :

1. ¥ ICUMS

2. ¥ KCUMS

3. % IBVNT

4. % KBUMT

Question Number : 2 Question Id : 518120604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ ICUMS

2. ¥ KCUMS

3. # IBVNT

4. % KBUMT

Question Number : 3 Question Id : 518120605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a certain code language CAP is written as 9 and TOWEL is written as 25, then how HANKEY will be written in that code language?
Options :

1. % 30

2.9 36

3. % 49

4. % 54

Question Number : 3 Question Id : 518120605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 30

2.9 36

3. % 49

4. % 54

Question Number : 4 Question Id : 518120606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code,

‘I have toffee’ is coded as ‘tin win sin’

‘you have chocolate’ is coded as ‘min fin win’
‘enjoy toffee chocolate’ is coded as ‘lin fin tin’

What is the code for ‘have’?
Options :

1. # tin

2. ¥ win

3. % sin

4. % min



Question Number : 4 Question Id : 518120606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * tin

2. ¥ win

3. % sin

4. % min

Question Number : 5 Question Id : 518120607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, ‘I have toffee’ is coded as ‘tin win sin’ ‘you have chocolate’ is coded as ‘min fin win’ ‘enjoy toffee chocolate’ is coded as ‘lin
fin tin’ What is the possible code for ‘you enjoy chocolate’?

Options :

1. * tin win min
2. * lin win fin

3. %* tin min fin

4. ¥ lin min fin

Question Number : 5 Question Id : 518120607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # tin win min

2. # lin win fin

3. # tin min fin

4. ¥ lin min fin

Question Number : 6 Question Id : 518120608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, G + H means ‘G is the father of H’, G — H means ‘G is the brother of H’, G x H means ‘G is the wife of H’, G+ H
means ‘G is the mother of H’
Based on the above, how is D relatedto Aif AxB+C-D+E?

Options :
1. # son
2. % daughter
3. ® sister
4

. % mother

Question Number : 6 Question Id : 518120608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1%
2. ¢ I



3. % dgd
4. % 7f

Question Number : 7 Question Id : 518120609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven friends J, K, L, M, N, O and P are sitting around a circular table, facing towards the centre of the table. M is sitting third to the left of L. K
and O are not the immediate neighbors of L. Only J is sitting between K and P.
Who is sitting immediately right of M?

Options :
1. %]
2.0
3.% P
4. % N

Question Number : 7 Question Id : 518120609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %]

2.4 0

3. % p

4. % N

Question Number : 8 Question Id : 518120610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six identical dices of different colours Orange, Blue, Red, Gray, Purple and Brown are arranged one over the other in the following manner.
Only three dices are kept between Orange and Red colour dice. Only Green dice is kept between Blue and Gray colour dice. Brown dice is kept



at the bottom most position.
Dice of which colour is kept at the fourth position from the bottom?

Options :
1. # Gray
2. ¥ Green
3. # blue
4. % Red

Question Number : 8 Question Id : 518120610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % WA

2.V

3. % Hid

4. % dld

Question Number : 9 Question Id : 518120611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row Sulekha is at 12th position from the left and Rajan is at the 18th position from the right. If they interchange their positions, Sulekha
becomes 19th from the left.
Now what is the position of Rajan from the right?

Options :
1. % 21th
2. ¥ 25th
3. % 27th
4. % 30th



Question Number : 9 Question Id : 518120611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 2147

2. 2541

3. % 2747

4. % 30d]

Question Number : 10 Question Id : 518120612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Direction: Read the given information carefully and answer the question that follows-

Five children P, Q, R, S, and T are from different states U.P, M.P,

Bihar, Rajasthan and Punjab but not necessarily in the same order. Each one likes only one fruit out of Apple, Mango, Pomegranate, Grapes, and
Strawberry. R is from Punjab and he does not like Apple or Grapes. P likes Mango and he is not from M.P or Bihar. T likes Pomegranate and he
is from Rajasthan.

The person who likes strawberry is from which state?

Options :
1. * M.P
2. % U.P
3. % Bihar
4. ¥ Punjab

Question Number : 10 Question Id : 518120612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % TaUlL
2. % gut.
3. % fogR

4, Uolld

Question Number : 11 Question Id : 518120613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given information and answer the question that follows.

In a group there are six friends Riya, Pooja, Vijay, Neha, Manisha and Kavya. Riya and Pooja like Green and Red colours. Vijay and Neha like
Yellow and Green colours. Riya, Manisha and Kavya like red and Blue colours. Neha and Manisha like Green and Blue colours.

Which colour is liked by maximum number of people in this group?

Options :
1. ¥ Green
2. % Red
3. * Yellow

4. % Blue

Question Number : 11 Question Id : 518120613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 TSR & ATgd® UfeT 3R SUP SHTYR TR U T Uy FT IR S|

38 Il R, goir, faora, =eT, 7ST 3R HTouT &1 U THE § | Rar 3R Ioil &) 837 3R et 31 gde g | faerg 3k 38T &) el 3k g 30
e 71 R, 7T 3R Sreat 1 o SR < I URiE 1 8T 3R T 1 87 3R el 1 ude g |

frofeRad o ¥ SH-91 37 39 THE & T a1 Al ) TS 82

Options :
1. ¥ &l




2. % Ad
3. % Oid
4. % an

Question Number : 12 Question Id : 518120614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion
(A): For good health our body should be exposed to sun light for some time daily.

Reason
(R): In the presence of sun light Vitamin D is formed in our body.

Options :

1. ¥ Both 'A' and 'R’ are true and 'R’ is the correct explanation of 'A’.

2. % Both'A' and 'R’ are true and 'R’ is not the correct explanation of 'A’.
3. % A'is true but 'R’ is false.

4. % A'is false but 'R' is true.

Question Number : 12 Question Id : 518120614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 13 Question Id : 518120615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given question consists of a statement, followed by two arguments numbered I and II. You have to decide which of the argument(s) is(are)
'strong' and accordingly select the correct option.

Statement: Should India start Covid-19 vaccination for the kids in the age group 2-12 years?

Arguments: 1. No, only very few countries have started Covid-19 vaccination for this age group.

II. Yes, suitable vaccine for kids of this age group has already been developed and found very effective in protecting them from Covid-19.

Options :

1. # Only argument I is strong.

2. % Only argument II is strong.

3. % Both the arguments are strong.

4. # None of the arguments are strong.

Question Number : 13 Question Id : 518120615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 518120616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given question consists of a statement, followed by two assumptions numbered I and II. You have to decide which of the assumption(s)
is(are) implicit in the statement and accordingly select the correct option.

Statement: “Buy ‘P’ mobile for longer battery backup” an advertisement.

Assumptions: I. ‘P’ mobile is the costliest.

II. ‘P’ mobile is the only mobile available in the market.

Options :

1. # Only assumption I is implicit.

2. % Only assumption II is implicit.

3. % Bot assumptions I and II are implicit.

4. ¥ Neither assumption I nor assumption II is implicit.

Question Number : 14 Question Id : 518120616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 15 Question Id : 518120617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given question consists of a statement, followed by two courses of action numbered I and II. You have to decide which of the course(s) of
action logically follows.

Statement: Dengue fever broke out in some of the district of a state. Hospitals beds are full of dengue patients and several casualties were also
reported due to it.

Course of actions:
I. Health Minister of the state should be removed.
II. Through different modes, general people should be made aware of preventive measures to be adopted in such situation.

Options :

1. % Only I follows.

2. % Only II follows.

3. # Both I and II follow.

4. #® Neither I nor II follows.

Question Number : 15 Question Id : 518120617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 16 Question Id : 518120618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure from among the given options that can replace the question mark (?) in the following series.

® o 9 LN W
A 3 @/ ?
J/ sy
Options :
o0 P
/
1.
00O




90O
£
\,__@
ot
3. ¢
] ¢ @
(
L
A
4. %

Question Number : 16 Question Id : 518120618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRI [dbed Thiaal # U 39 A1Hid ST I8+ SHITT il FUfeRad sl §@ar § Ug-fHg (2) & ®IF 0 A1

Options :

LB R



2. %
seee®
.". b
\___'-
3.¢ 1
e oo
\‘i;.\ll

Question Number : 17 Question Id : 518120619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong figure in the following series.

Options :
. % P



4.9 S

Question Number : 17 Question Id : 518120619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % P

N

L
"%

Question Number : 18 Question Id : 518120620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Three of the following four figures are alike in a certain way and thus form a group. Identify the figure which does not
belong to this group.

Options :
*
=
1. #
*
P
2. ¥
1%1
3. %




Question Number : 18 Question Id : 518120620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %
*
-
2. ¥
N
3. %
N
4. %




Question Number : 19 Question Id : 518120621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following four figures are alike in a certain way and thus form a group. Identify the figure which does not
belong to this group.

Options :

\Y
g

e L

g

-

t_<> |
A
L5

|
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Question Number : 19 Question Id : 518120621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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.
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4. %

Question Number : 20 Question Id : 518120622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two problem figures have certain common features. Select a figure from amongst the given options which possesses
the same features.

Problem Figures

Options :






Question Number : 20 Question Id : 518120622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4.

General Awareness
Group Number : 2
Group Id : 51812014
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 51812016
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 51812018
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 518120623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the first election of free India end?
Options :

1. * 1950

2.9 1952

3. % 1953

4. % 1955

Question Number : 21 Question Id : 518120623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tadd HRd BT gl g-1d T af =t U
Options :
1. % 1950
2. % 1952
3. % 1953
4. % 1955

Question Number : 22 Question Id : 518120624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mission Karmyogi approved on 2020 is a capacity building programme for the
Options :

1. # Doctors

2. % Lawyers

3. % Civil Servants

4. # Teachers

Question Number : 22 Question Id : 518120624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 & 3AfeA RF wHantt & fom emyar Aot s B
Options :

1. % RIfbD

2. % 3ffeyqerdr

3. ¢ FdD

4. % fRierep

Question Number : 23 Question Id : 518120625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian scientist among the following has been awarded the inaugural young scientist award for frontier science (TWAS-CAS) in
the physical sciences, by the Italy-based World Academy of Sciences in 20207



Options :

1. # Konsam Sarika

2. % Prof Parameswaran Ajith
3. # Shrstha Sinha

4. * Tarun Mishra

Question Number : 23 Question Id : 518120625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® HIgH gD
2. ¢ TIhIR IRUYRA 3fford
3. % N7 Rgr

4. % o7 foyyT

Question Number : 24 Question Id : 518120626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one among the following is an input device in a computer?
Options :

1. ¥ Scanner

2. # Printer

3. % Speaker

4. % Projector

Question Number : 24 Question Id : 518120626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ TR

2. % flie]

3. % Wi
4. % YIoldex

Question Number : 25 Question Id : 518120627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which mobile service provider is the largest telecom operator in India as per TRAI in January 20207?
Options :

1. # Vodafone

2. % Airtel

3. ¥ Reliance Jio

4. % BSNL

Question Number : 25 Question Id : 518120627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHERT 2020 T TRAI & SITHR, HIH-UT AT aT YTl YR 61 Ted §81 gRUAR TR 77
Options :

1. % 9GS

2. % QRS

3. ¢ Rardg forn

4, % o TH.TA.T.

Question Number : 26 Question Id : 518120628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is the author of the book ‘Road to freedom:A sociological study on the abolition of scavenging in India’?
Options :



1. ¥ Bindeshwar Pathak
2. % Medha Patkar
3. % Ravish Kumar
4. # Arundhati Roy

Question Number : 26 Question Id : 518120628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 &H IS ¢ WieH: T ARG Wl 3ii- & TSI 3t Whdfoi 3 $f$a1 (T 1 18: YRd § Adl oH &
I IR GHISRIRATS 3eHT) Y b/ Pl oieh/ R &2

Options :

1. ¢ 43R Ut

2. % TYTUICH

3. % WM HAR

4. % 35T

Question Number : 27 Question Id : 518120629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is India’s rank in the 2020 Global Hunger Index?
Options :

1. % 78th

2. % 82nd

3. % 89th

4. ¥ 94th

Question Number : 27 Question Id : 518120629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfYF YT EHTw, 2020 H YR 1 ¥ fabat 82

Options :



1. % 784t
2. % godf
3. % god]
4. ¢ 94}

Question Number : 28 Question Id : 518120630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Akshaya Patra Foundation is a not-for-profit organisation headquartered in
Options :

1. # Chennai

2. % Kolkata

3. ¥ Bengaluru

4. % Delhi

Question Number : 28 Question Id : 518120630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31&T U BTSSR Uh TR-ATHSHR! W1+ g oyt Jreared el fud 82
Options :

1. % 9

2. % PIeTeIdl

3. ¢ ST

4. % focefl

Question Number : 29 Question Id : 518120631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Indo-US exercise ‘Yudh Abhyas’took place in the state of in February 2021.
Options :

1. % Mizoram



2. # Sikkim
3. ¥ Rajasthan
4. ¥ Madhya Pradesh

Question Number : 29 Question Id : 518120631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA-3HRST 3191 G 3R BRaR1 2021 H I H gl
Options :

1. # foRA

2. % ffdpH

3. ¥ STV

4. % A Y

Question Number : 30 Question Id : 518120632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state is The counter insurgency and jungle Warfare School located?
Options :

1. # Jharkhand

2. % Chhattisgarh

3. # Nagaland

4. ¥ Mizoram

Question Number : 30 Question Id : 518120632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g B3R SO U8 ST IRKGAR Whd (o Xod H T g2
Options :

1. % IRES

2. % NG




3. % 9ETCS
4. ¢ ORIk

Question Number : 31 Question Id : 518120633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Hirebenakal' is a Megalithic site in the state of
Options :

1. % Assam

2. % Kerala

3. ¥ Karnataka

4. % Qdisha

Question Number : 31 Question Id : 518120633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS 159 1 HETUTNTU R |
Options :

1. % 349H

2. % B

3. ¥ BHICD

4. % 3fifg=m

Question Number : 32 Question Id : 518120634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which city among the following was the capital of the Pushyabhutis who ruled after the fall of Gupta Dynasty?
Options :

1. # Magadha

2. % Pataliputra

3. % Thanesar



4. % Valabhi

Question Number : 32 Question Id : 518120634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRad o ¥ ®19-971 16 W %7 & Ud & 916 [ R a1l T[T a1 1 qater=i o
Options :

1. # HITY

2. % Urefaga

3. ¢ YR

4. % geadl

Question Number : 33 Question Id : 518120635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the first Indian Police Act legislated by the British?
Options :

1. % 1857

2. % 1861

3. % 1872

4. % 1885

Question Number : 33 Question Id : 518120635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUSI 7 Ugen YR gferd sifaifo foog oo s=mar um
Options :

1. % 1857

2.9 1861

3. % 1872

4. % 1885



Question Number : 34 Question Id : 518120636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Tropic of Cancer passes through Indian States
Options :

1. %5

2.% 6

3.% 7

4. % 8

Question Number : 34 Question Id : 518120636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hp Xl YR Ioa! I G oRd! §
Options :

1. %5

2.% 6

3.% 7

4. ¥ 8

Question Number : 35 Question Id : 518120637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian state has the highest concentration of ‘bauxite’ as per report of Indian bureau of mines?
Options :

1. #* Maharashtra

2. ¥ QOdisha

3. #* Jharkhand

4. % Chhattisgarh

Question Number : 35 Question Id : 518120637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR W R o1 RU1E & SR, ford URdg ITg | diaige’ bt S=d Jisdl 82
Options :

. % AERIY

2. ¢ 3fifg=m

3. % RIS

4. % FANTG

Question Number : 36 Question Id : 518120638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Ministry of Statistics and Programme Implementation which Indian state has the highest per capita income as on March 2021?
Options :

1. # Kerala

2. # Karnataka

3. ® Sikkim

4. ¥ Goa

Question Number : 36 Question Id : 518120638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

giegen! 3R HTdHH Hraf-agd HATTg & AR, HIE 2021 9% [ YR o9 o1 Ufd safad 3 Jay 31 |2
Options :

1. % Bd

2. ® FHAlCH

3. % fdwpd

4. ¥ Tl

Question Number : 37 Question Id : 518120639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

From Ist April 2021, the annual income slab of BPL families has been increased from 1.2 lakh to X lakh by Government of India.
Options :

1. % 1.5

2.% 1.7

3. 1.8

4. %20

Question Number : 37 Question Id : 518120639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 30, 2021 9, St Td. (BPL) URARI Ft ATfiies 30 Td BT HRd TRBR A 21.2 TR T TGIHR 2 g o fear|
Options :

1. % 1.5

2. % 1.7

3. 1.8

4. %20

Question Number : 38 Question Id : 518120640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was popularly known as ‘Desh Ratna, Ajatshatru’?
Options :

1. ¥ Dr. Rajendra Prasad

2. % Subhash Chandra Bose

3. # Lal Bahadur Shastri

4. % Dadabhai Naoroji

Question Number : 38 Question Id : 518120640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad & 9 {3 <=1 I, SSIdRE & A8 A S S1ar A1?




Options :

1. ¢ . I[0i% UG
2. % YV g 91

3. % Tl 9gIgR Xl
4. % TIETHTS RISl

Question Number : 39 Question Id : 518120641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which National Highway among the following connects the maximum number of states?
Options :

1. # NH -27

2. ¥ NH-44

3. ¥ NH-30

4. ¥ NH-53

Question Number : 39 Question Id : 518120641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froferiad & & -9 gt IRt sifiiedn Il 1 el 87
Options :

1. % TS ASHRAT (NH) - 27

2. ¢ TSI ASTHRT (NH) - 44

3. % P ASHR (NH) - 30

4. % TS IASTHRAT (NH) - 53

Question Number : 40 Question Id : 518120642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per National Fisheries Development Board report 2020 India ranks in fisheries production in the world.

Options :



1. * First
2. * Second
3. % Third
4. * Fourth

Question Number : 40 Question Id : 518120642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST A fabg &S &1 RUIE 2020 & SUR, gFHATH A Idred # HRd WFEWR G|

Options :

1. % Ugd
2. % G
3. ¢ AR
4. % 9

Arithmetic Ability
Group Number : 3
Group Id : 51812015
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 51812017
Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 51812019
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 518120643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the average weight of 30 boys of section A is 49.5 kg and that of 20 boys of section B is 46.5 kg, then what is the
average weight of boys of sections A and B taken together (in kg)?

Options :

| ® 47.5
, % 47.9
3 @ 48.3

4 % 485

Question Number : 41 Question Id : 518120643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie AT P 30 TSH] BT 21T GOl 49.5 kg € AR B T P 20 TSH! BT AT Ao 465 ke 8, MAARB T &
ASD| Bl Th ATy [HAIHR 3AGd 9o (ke H) fbdH 82

Options :




» % 47.9

Question Number : 42 Question Id : 518120644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the average of the numbers 3, 7, 9, 15, P and Q is 14.5, then what is the average of the numbers P and Q?
Options :

1 ® 28

5> & 265

Question Number : 42 Question Id : 518120644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g W2 3, 7, 9, 15, P 3R Q B 3 14.5 8, ol GBAI3T p 3R Q P 1 fhaT 82

Options :

1 ® 28

5> & 265
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Question Number : 43 Question Id : 518120645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When 5 residents of a colony having average weight 51 kg left the place and a new family of 5 persons replaced them.,
the average weight of the 100 residents decreased by 225 g. If average weight of 2 new residents is 63 kg, then what is

Ly

the average weight of the remaining 3 new residents (in kg)?
Options :
1. % 36

5 & 35.5

3 #® 35

Question Number : 43 Question Id : 518120645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofd [l il & 51 kg T IO arel 5 AR GER1 SRIE Tel U 3R 31 S8 5 el - o &l dl §%il & 100
fraTfear & ofigd aoF § 225 ¢ DI HH! AT T3 | TS 2 U Hafml o1 2 d a9 63 ke ©. o AW 3 7 Faifyal &1
e a6 (kg H) T g2

Options :
1. ® 36



Question Number : 44 Question Id : 518120646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of an article is 21400 and the shopkeeper allows 12% discount. For how much is the article available
to customers?
Options :

1. % 1200

) & %1232
3. % 1250

4 % ZT1275

Question Number : 44 Question Id : 518120646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 9% o1 3ifohd Yol 21400 SR GHMER 3H W 12% DI B ol o | Ted| & [T a5 [T og IR Iues g2
Options :
| % %1200

5 & ¥1232



3. % 1250

4 % T1275

Question Number : 45 Question Id : 518120647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper offers 2 schemes of discounts. First scheme is series of discounts of 10% and 20%. Second scheme is
series of discounts of 15% and 15%. Which scheme gives more discount and by how much?

Options :
| % second scheme, .25%

5 « first scheme, .25%
3 % first scheme, 2.5%

4 % both schemes give equal discount

Question Number : 45 Question Id : 518120647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh SHIER BC & 1T 2 GISHT3{T ] U1V 6HRdl 8 | YS! aior H 10% 3R 20% i it Be &l Sl 81 gadl
ST H 15% 3fR 15% 1 HitH B &l ol g | GF1 3 Y HIH-I1 o1 31fd Fe adl § 3R fhaq ol g2

Options :

| GO, 25%

, » USHI TSI, 25%



3 UEUI IS, 2.5%

4 % G TS o FAM g et 81

Question Number : 46 Question Id : 518120648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader allows a discount of 10% on marked price. How much percent above the cost price should he mark his goods
50 as to make a profit of 17%7?

Options :

L% 27%
5 % 28.5%

3 @ 30%

Question Number : 46 Question Id : 518120648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U AR 3ifhd T WX 10% 1 BE adl 81 17% BT A1y 3Hfoid & o (A8 3 40 9xg W Hd oI I foba
=1 3ffeeh 3ffehd BT ey

Options :

L% 27%

5 % 28.5%



Question Number : 47 Question Id : 518120649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Salary of Naveen increased from ¥63000 to 265835. Find the increase percent.
Options :

1. % 4.2%

Question Number : 47 Question Id : 518120649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-Tdi- BT A 263000 U TGP 265835 81 7411 Il YIA=Id 1d B |

Options :
1 % 4.2%

3 % 4.8%



Question Number : 48 Question Id : 518120650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Usually Ravi spends 70% of his income. His income increases by 25% and his expenditure also increases by 10%. Find
the percentage increase in his savings.

Options :
1 ® 065%

5 & 60%

Question Number : 48 Question Id : 518120650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YIYRUT: (G O 31T BT 70% Td HR Gl 6| SHDB! I H 259% 1 Gieg; 81 oflcil 8 2R I8 TG H I 10% Bl
qf& I ocll €1 SUS! 99 H fha ufaed o 3fa sl 82

Options :
1. % 065%

5 & 60%

3 % 58%
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Question Number : 49 Question Id : 518120651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ankit sold an article to Bimal at 8% profit. Bimal sold it to Chetan at 5% loss. The profit made by Ankit is 91 more
than the loss incurred by Bimal. What is the cost price of the article (in %) for Ankit?

Options :
1. ® 3200

Question Number : 49 Question Id : 518120651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfchd = DIy, G fSHU Bl 806 WH R &9 < | 90T 7 31 a¥g I dd Dl 59 S W 5 &1 2ifbd gRT 3ffoid
1Y fd 31 811 T 201 2414 21 <ifhd & U g ST Ha g = ) fbar g2

Options :
1. % 3200




4 & 3500

Question Number : 50 Question Id : 518120652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8% more is gained by selling an article for 2300 than by selling it for T280. Find the cost price of the article.
Options :

1. ® T220

5 % 3240
3 ¢ 3250

4 % 3252

Question Number : 50 Question Id : 518120652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farell o T 2280 H 9 &1 g1 H 2300 H 99 TR 8% e T UK 8IdT 81 9% I Hd Hed 31d B |
Options :
| ® 3220

» % 3240
3 @ 2250

4 % 3252



Question Number : 51 Question Id : 518120653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man bought 15 kg sugar at T40 per kg. He spent 740 on carrying it to his shop. He sold the entire sugar for 2768. Find
his profit percent.
Options :

L% 15%
5 % 16%
3 % 18.5%

4 & 20%

Question Number : 51 Question Id : 518120653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uch HIGHT 7 15 kg DT 240 kg B &R H WG 3T I UHT G dcb o O H 240 W [HU| I W I I
3768 H o9 1| IGh1 Ay Hid=rd Jd 1|

Options :

% 15%

5 % 16%

Question Number : 52 Question Id : 518120654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A sells his car to B who spent 22500 on its repair and sold the car to C with 12% profit. C spent Z 1200 on its decoration
and sold it to D for Z 216000, thereby making a profit of 8%. For how much A sold his car?

Options :
1. % 200000

> % 185000
3 % Z177500
4 ¢ ZL75000

Question Number : 52 Question Id : 518120654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 30 BR B B 99T g ORI R & AT TR 22500 WY [HU 3R BR C Bl 120 AH R I G| ¢ BR DI
olge WR 21200 T BT 3R 3 D Bl 2216000 H 59 &, oG I 89 BT ATH G| A - AT HR fobe- H sl
2P

Options :
1. ® 200000

» % %185000
3 % 2177500

4.« Z175000



Question Number : 53 Question Id : 518120655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of two books A and B are in the ratio 11 : 6. If book A costs 55 more than book B, then find the price of book
B.

Options :
1 #® 265

5 & 366
3 % 268

4 % Z70

Question Number : 53 Question Id : 518120655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l JIh! A 3R B BT HA 11 : 6 & U H 81 Fi¢ T&KID A DI Hed KD B I 755 3% 8, 9l TKID B B ™
BIGEIEY

Options :
1. % %65

5 & %66
3 % 68

4 % %70

Question Number : 54 Question Id : 518120656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find the number which when subtracted from each term of the ratio 21 : 26 makes it equal to the ratio 3 : 4.
Options :

1.% 3

Question Number : 54 Question Id : 518120656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 BT T B 11oTE forY YT 21 : 26 & Wi UG H U YT UR I8 U 3 : 4 & SRIaR gl Sl g

Options :

1.% 5

Question Number : 55 Question Id : 518120657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Mansi and Taruna have money in the ratio 5 : 7 and Taruna and Renu have it in the ratio 8 : 11. If Taruna has 32240,
then how much money Renu has?

Options :
1. ® 3000

5 & %3080
3 % 3120

4 % 33150

Question Number : 55 Question Id : 518120657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3R TN o U 5:7 o 30T H U4 g 3R qoUN AR XU & U s : 11 & HJUId H U4 ¢ | fe a0 & Uiy
32240 8, 1 XU & U1y fdba- U 2

Options :
1. % 3000

5 « F3080

3 % 3120

Question Number : 56 Question Id : 518120658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A can do a piece of work in 12 days and B can do the same work in 20 days. How many days will they take if both work
together?

Options :
1. ® 7

Question Number : 56 Question Id : 518120658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T &1 &l 12 161 H RTBR Faball § AR B ! BRI Bl 20 f6 H Q-1 R Fabvell 5 | AlS Gl U 1Y i e al
38 1 I H H foba e T

Options :

1. ® 7



Question Number : 57 Question Id : 518120659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 180 men can do a piece of work in 15 days. then how many men can do one-third of the work in 12 days?
Options :

1. ® 72

R 4 75
3 #® 80

4 % 82

Question Number : 57 Question Id : 518120659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 180 2MMeH! fhdl & Bl 15 f&d H P Tdhd 8, dl [ 3H1eH! 12 & H U g &1 & Uohd 82

Options :
1. ® 72

7 o 15
3 #® 80
4 % 82

Question Number : 58 Question Id : 518120660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A man can row at 4 km/h in still water. It takes him thrice the time to row upstream than to row downstream the same
distance. Find the speed of the stream (in km/h).

Options :
1. % 1.6

> % 1.75

3 % 1.8

-

4.4 2

Question Number : 58 Question Id : 518120660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U i Rid &el H 4knyh 1 F1¢ Y 719 0l Gobdl & | 3 GHM 31 T B H SFIHaRiaR & ga-l |
FITaTSIGRIT H T T S 11 8 | 4RT 1 =1 (knv/h H) 10 DI

Options :
1. % 1.6

> # 1.75

3 # L3

-

4. <

Question Number : 59 Question Id : 518120661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A motorboat goes 10 km upstream and the same distance back to the starting point. The speed of the motorboat in still
water is 22 km/h and the speed of the stream is 2 km/h. Find the total time taken by the boat.

Options :
1 % 45 min

7 # 52 min
3 « 55 min

4 % 58 min

Question Number : 59 Question Id : 518120661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HIcREIC WiAware G2 H 10km B g3l a0 6l & IR 301 ol gul ad DR aiuy YR fdig da ofrdl g1 2Mid
WIe H HICEIC I 916 22 kavh 8 3R RIS I1A 2 knvh 81 HICRSIE &I HUU Gl G & H S fobed=1 97y T

Options :

1 % 45 min
o % 52 min
3« 55 min

4 % 58 min

Question Number : 60 Question Id : 518120662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Walking at two-third of his usual speed, a person reaches his office 15 minutes late. Find the usual time (in minutes) that
he takes to cover the distance.

Options :

1. ® 25

2 « 30
3 #% 32

4 % 35

Question Number : 60 Question Id : 518120662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Al O T 916 & G- {818 a1d 4 TeeR 30 ST 15 min 53 § TETdl 81 39 g3l &l qd e H
T 1T TH 994 (min H) 1 Sifor|

Options :

1. ® 25
2.¢ 30

3 ®% 32
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Group Number : 4



Group Id : 51812016

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
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Section Id : 51812018

Section Number : 1
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Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 51812020

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 518120663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

We need to have alternate plan ready in case this one fails.
Options :

1. % a

2.9 an

3. % the



4. % No Article

Question Number : 61 Question Id : 518120663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

We need to have alternate plan ready in case this one fails.

Options :

I.* a

2. % an

3. % the

4. % No Article

Question Number : 62 Question Id : 518120664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I have found the Professor to be most learned person I have ever known
Options :

1. % a

2. % an

3. ¥ the

4. % No Article

Question Number : 62 Question Id : 518120664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I have found the Professor to be most learned person I have ever known
Options :



1. * a

2. % an

3. ¥ the

4. % No Article

Question Number : 63 Question Id : 518120665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

Bible is the holy book of the Christians.
Options :
1. % A
2. % An
3. % The
4. # No Article

Question Number : 63 Question Id : 518120665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

Bible is the holy book of the Christians.
Options :
1. % A
2. % An
3. % The
4. % No Article

Question Number : 64 Question Id : 518120666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.



His knowledge of Indian vernaculars are far beyond the common.
Options :

1. # of

2.9 are

3. % far

4. ¥ beyond

Question Number : 64 Question Id : 518120666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

His knowledge of Indian vernaculars are far beyond the common.
Options :

1. % of

2. % are

3. % far

4. # beyond

Question Number : 65 Question Id : 518120667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

A jail bird

Options :

1. * A jailor incharge of the prisoners

2. % A person who has been in jail many times

3. # A person who informs the police about criminals

4. % A person who catches criminals

Question Number : 65 Question Id : 518120667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

A jail bird

Options :

1. # A jailor incharge of the prisoners

2. ¥ A person who has been in jail many times

3. # A person who informs the police about criminals

4. ® A person who catches criminals

Question Number : 66 Question Id : 518120668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

To set the Thames on fire
Options :

1. #® To remain neutral

2. # To predict something evil

3. ¥ To cause a lot of excitement

4. % To surpass expectations

Question Number : 66 Question Id : 518120668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

To set the Thames on fire
Options :

1. #® To remain neutral

2. # To predict something evil

3. ¥ To cause a lot of excitement



4. # To surpass expectations

Question Number : 67 Question Id : 518120669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

Passed from parent to child
Options :

1. ¥ Hereditary

2. # Maternal

3. % Paternal

4. % Original

Question Number : 67 Question Id : 518120669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

Passed from parent to child
Options :

1. ¥ Hereditary

2. % Maternal

3. % Paternal

4. % Original

Question Number : 68 Question Id : 518120670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

The committee members/ has agreed to donate / a part of their salary / to the flood relief fund.
Options :



1. # The committee members
2. ¥ has agreed to donate

3. % apart of their salary

4. ¥ to the flood relief fund.

Question Number : 68 Question Id : 518120670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

The committee members/ has agreed to donate / a part of their salary / to the flood relief fund.
Options :

1. # The committee members

2. ¥ has agreed to donate

3. % apart of their salary

4. % to the flood relief fund

Question Number : 69 Question Id : 518120671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

My father /has promised/ to teach me /how to driving a car.
Options :

1. ¥ My father

2. # has promised

3. # to teach me

4. ¥ how to driving a car

Question Number : 69 Question Id : 518120671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.



My father /has promised/ to teach me /how to driving a car.

Options :

1. % My father

2. # has promised
3. # to teach me

4. ¥ how to driving a car

Question Number : 70 Question Id
Orientation : Vertical

: 518120672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the antonym of the given word.

Ultimate
Options :

1. # final

2. # eventual
3. % decisive
4. ¥ initial

Question Number : 70 Question Id
Orientation : Vertical

: 518120672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the antonym of the given word.

Ultimate
Options :

1. # final

2. % eventual
3. % decisive
4. ¥ initial

Question Number : 71 Question Id

: 518120673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

You were /not at home/ when I come/ to your house yesterday.
Options :

1. ®* You were

2. ® not at home

3. % when I come

4. % to your house yesterday

Question Number : 71 Question Id : 518120673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

You were /not at home/ when I come/ to your house yesterday.
Options :

1. # You were

2. # not at home

3. % when I come

4. # to your house yesterday

Question Number : 72 Question Id : 518120674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I told that/ I had/ to attend/ an urgent meeting.
Options :

1. ¥ 1 told that

2. % Thad

3. % to attend



4. # an urgent meeting

Question Number : 72 Question Id : 518120674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I told that/ I had/ to attend/ an urgent meeting.
Options :

1. ¥ I told that

2. # T had

3. % to attend

4. % an urgent meeting

Question Number : 73 Question Id : 518120675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct synonym of the given word.

Consent
Options :

1. # refuse
2. ¥ agree
3. #® release

4. # protest

Question Number : 73 Question Id : 518120675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct synonym of the given word.

Consent
Options :



1. # refuse
2. ¥ agree
3. ® release

4. ¥ protest

Question Number : 74 Question Id : 518120676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/ phrase in the given sentence.

Arijit gave his friend the cold shoulder after getting his work done.

Options :

1. ¥ Ignored him

2. % Gave him an ice-cream

3. % Patted his shoulder with cold hands
4. % Scolded him

Question Number : 74 Question Id : 518120676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct option which best expresses the meaning of the underlined idiom/ phrase in the given sentence.

Arijit gave his friend the cold shoulder after getting his work done.

Options :

1. ¥ Ignored him

2. # Gave him an ice-cream

3. % Patted his shoulder with cold hands
4. % Scolded him

Question Number : 75 Question Id : 518120677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



A study of rocks and soils
Options :

1. # Archeology

2. ¥ Geology

3. % Paleontology

4. # Pathology

Question Number : 75 Question Id : 518120677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A study of rocks and soils
Options :

1. # Archeology

2. ¥ Geology

3. % Paleontology

4. # Pathology

Sub-Section Number : 2
Sub-Section Id : 51812021
Question Shuffling Allowed : Yes

Question Id : 518120678 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the most suitable option. Choose the most appropriate option for
each number.

This year the Annual Book Fair will be held on 15th and 16th August. The Book Fair is going to be bigger than last year (1) the
organisers have been successful in attracting a number of (2) publishers, booksellers and writers. It is expected that (3) 100
publishers and booksellers will (4) their stalls at the Book Fair. During the Book Fair, there will be seminars on a wide (5) of

topics related to the publishing industry.
Sub questions



Question Number : 76 Question Id : 518120679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 1.
Options :

1. ¥ because

2. * when

3. % if

4. * but

Question Number : 77 Question Id : 518120680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 2.
Options :

1. * first

2. ¥ leading

3. % initial

4. * basic

Question Number : 78 Question Id : 518120681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 3.
Options :

1. * among

2. % ahead

3. * across

4. ¥ over

Question Number : 79 Question Id : 518120682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 4.
Options :

1. # puton

2. % put off

3. ¥ put up

4. # put out

Question Number : 80 Question Id : 518120683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 5.
Options :

1. # scale

2. ¥ range

3. #* limit

4. # sweep

Question Id : 518120678 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the most suitable option. Choose the most appropriate option for
each number.

This year the Annual Book Fair will be held on 15th and 16th August. The Book Fair is going to be bigger than last year (1) the
organisers have been successful in attracting a number of (2) publishers, booksellers and writers. It is expected that (3) 100
publishers and booksellers will (4) their stalls at the Book Fair. During the Book Fair, there will be seminars on a wide (5) of

topics related to the publishing industry.
Sub questions

Question Number : 76 Question Id : 518120679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill blank no. 1.



Options :

1. ¥ because
2. # when
3. % if

4. % but

Question Number : 77 Question Id : 518120680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 2.
Options :

1. % first

2. ¥ leading

3. # initial

4. ® basic

Question Number : 78 Question Id : 518120681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 3.
Options :

1. # among

2. % ahead

3. ® across

4. ¥ over

Question Number : 79 Question Id : 518120682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 4.
Options :

1. # put on

2. # put off



3. % put up
4. # put out

Question Number : 80 Question Id : 518120683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill blank no. 5.

Options :
1. # scale
2. ¥ range
3. #* limit
4. # sweep

General Hindi
Group Number : 5
Group Id : 51812017
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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General Hindi

Section Id : 51812019
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16



Number of Questions to be attempted : 16

Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 51812022
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 518120684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & 9 fora area o fawranfeaied sieqg &1 Tad UaNT gf 82
Options :

1. ¥ 381 89 8R T

2. % B! 3F H T H&?

3. % B qH AT PRI

4. % 3R TH T

Question Number : 81 Question Id : 518120684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & 3 foy arga o fowraneatee Sioqd &1 TTad TanT goiT 82
Options :

1. ¢ 38T 84 gR T

2. % B! S H T He?

3. % S AR IR RN

4. % 3R T 3T

Question Number : 82 Question Id : 518120685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T feATer Bl R ddl 2 1° aTe & Jifohd 3 & I WR [5Y HRS BT IR JgT g9

Options :




%7
2. % IR
3.¢ 9
4. % &g

Question Number : 82 Question Id : 518120685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AT &l e adt g 1° T o X@ifohd 3% & RIF WR {6 SRS BT TN Tal g2
Options :

1. %4

2. % R

3.49

4. % & fog

Question Number : 83 Question Id : 518120686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T e & Nad ®IF H {59 Weg &1 Uai faRiwor & U H farar o wear g2
Options :

1. % dyr

2. % Qg

3. ¢ 3R

4, % AHYdl

Question Number : 83 Question Id : 518120686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x| S{TH Y 1 & Nad R # {59 eg &1 7T faRiwur & & § foar S a1 82
Options :

1. % qYl



2. % 1d
3. ¢ 3R
4. % 37ydl

Question Number : 84 Question Id : 518120687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 2P O FEfeied 3§ ¥ SH-91 91 I 82
Options :

1. % YUY P 3P AT |

2. ¢ YA fad T8t Aedr gl

3. % 3fMtale &1 3f&d S|

4. % gl 9gd de o1 dgl faar g

Question Number : 84 Question Id : 518120687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a9 1 €D Y Fafeed # 3 HH-91 a1 g 82
Options :

1. % YUY DI 3D AT g

2. ¢ UG Tf T8! IgaT g |

3. % 3f=ftale &1 3fed S|

4. % g 9gd g @I digl fadr g |

Question Number : 85 Question Id : 518120688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<14l o1 faufda afgd agaad Fm g

Options :
1. % =f¢ar
2. % fe



3.« Afeal
4. % qfqaff

Question Number : 85 Question Id : 518120688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
14l &1 faufaa afgd aga== a1 g
Options :

1. ® et

2. % fean

3. ¢ A

4. % Figefl

Question Number : 86 Question Id : 518120689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TF: + T BT Fel T = T T2
Options :

1. % TN

2. % FA™N

3. % T

4. ¢ TN

Question Number : 86 Question Id : 518120689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T + TNT DT ol A =Y TGN
Options :

1. % TR

2. % TR

3. % T



4. ¥ HANT

Question Number : 87 Question Id : 518120690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X + AUl T et WY T 1 82
Options :

1. % Hearoit

2. % Hdroit

3. ¢ ggruf!

4. % Feqruit

Question Number : 87 Question Id : 518120690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T + gl T et I =g a1 g2
Options :

1. % Faroft

2. % garufi

3. ¢ groft

4. % gearoff

Question Number : 88 Question Id : 518120691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fd + 3iS” BT TET WY U HH-1 52
Options :

1. ¥ 311G

2. % oMl

3. % gfaare

4. % sfqsmi



Question Number : 88 Question Id : 518120691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fd + 3MiS” 1 FE! WY U HH-1 82
Options :

1. ¢ 3afe

2. % gqefe

3. * gfofe

4. % gfqanfq

Question Number : 89 Question Id : 518120692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A UTfoh ¥ ! PRI SaTd {631 | arer] H Wifobd 3T b HrATiid = o o Suged fased g
Options :

1. % Jufert w == fean

2. % ITTHH WR I faan|

3. % T 5C gol faa|

4. ¢ 3 P 9aTd URR Y faa|

Question Number : 89 Question Id : 518120692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A T ! FRRT STdTdl fa | arary B Xaifard 31 &) ufaeaifid a- & foe Sugad fawed gfu)
Options :

1. % Jeferat wR = feam

2. % 3MGHM WR I fear|

3. % g Y g ool |

4.« 32 P 9aTd URR ¥ fea|




Question Number : 90 Question Id : 518120693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a7 arar 31 & foIe 981 Adiad HF-91 52
Options :

1. % T G ral 9 IRed

2. % Tl T de@x g § STTell

3. % 3{YSI TWRI Beldhd Sy

4.« gt U diar ust ¥ @1Rm

Question Number : 90 Question Id : 518120693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e T arar 3 & forg 9 Aepifad DIF-9 g2
Options :

1. % T[S W [eRal ¥ WRgol

2. % T T 93HR S T ST

3. % 3{YSIe TRI Beldhd Y

4. G dieT gt § A=

Question Number : 91 Question Id : 518120694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"31fe- 31T THYd TH-TMsg 1 Sfad o fora faweu A g2
Options :

1. % ORT- 9l

2. % ART- =

3. ¢ & - HRT

4. % gdl - IR

Question Number : 91 Question Id : 518120694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3TfeT-S1fer TrYd - Theg &1 3o o1 for faswrey & &2
Options :

1. % HiT-aRy

2. % YR - It

3. Tt - Ui

4, % g© - gRd

Question Number : 92 Question Id : 518120695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fau U faemedt & 9 «3id” &1 fady <reg IH|
Options :

1. % 3

2. % 3HIMH

3. ¢ 3fe

4, % 3

Question Number : 92 Question Id : 518120695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu TTe fowedt & 9 «sia &1 fadd 2reg I |
Options :

1. % 3[R

2. % 3{IH

3. ¢ 3fe

4. % Y

Question Number : 93 Question Id : 518120696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed # 9 $19-91 st “Jed o1 yaiaard! T8l 82
Options :

1. % @R

2. ¢ foiid

3. % ddR

4, % TRJd

Question Number : 93 Question Id : 518120696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRad # 3 S1H-91 s “ITa” &1 uaiaard 751 52
Options :

1. % TR

2. ¢ fadid

3. % dR

4. % TRJd

Question Number : 94 Question Id : 518120697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qE MY Al H |G, AT B BT 6-
Options :

1. ® QATHITCID dqHM DI

2. % fewy gaqH BT

3. ¢ Yfdod BT

4. % Yd BId

Question Number : 94 Question Id : 518120697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



'IE T Al T SR AT BT DI o-
Options :

1. % dhIfad aaH BId

2. % ™ aqHH BId

3. ¢ Ufdsd &I

4. % VA BT

Question Number : 95 Question Id : 518120698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead & @ ®1F-91 a1 BTd Hrarqul S/gwiT o) S-fdr 82 — Ig+ Hifor-
Options :

1. % U@ 9 @I 3|

2. % qHTISI

3. % G gl gl

4. e A G i

Question Number : 95 Question Id : 518120698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed & § ®1F-91 9T BTd H1qul ST oI ST 82 — TG HIfor-
Options :

1. % U1 9 BT 5

2. % qH S|

3. % gggUdl o

4.« g1 TGl i

Sub-Section Number : 2
Sub-Section Id : 51812023
Question Shuffling Allowed : Yes

Question Id : 518120699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :



No

Question Numbers : (96 to 100)

YR Tia H Sd1 ¢ | I1 g ot i FHIE 81T fob WRd 1 312 8, il b1 a0 | 711, Sila BT Ggofdl, WIHTIhT 3R 3MTa &1 Uclle
2| 981 HUe e 8, B LI 3 196 U9 € 0T B, ofie € ofe 8 1 A % i RIS §, B H § SIR U gu R wg S fadl & oruTe ITE
g1 371 Ulal § fIRep+ § 3R HIal & I 8 IS T11d BT “URA HI W7 Hgl Il ¢ |

Sub questions

Question Number : 96 Question Id : 518120700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 TR T Iugerd e Y|
Options :

1. % Tial § YRd

2. % YRd & Tld

3. % Tiq 3R M H YRA

4. ¢ YRA BT &

Question Number : 97 Question Id : 518120701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“UTg A ITT- BT T dTdd 82
Options :

1. % IS 3R SFRIE B HIGH

2. % G 3R Hfad Bt yraT

3. ¥ R 3R JHYUT BT UG

4. % HUC IR F=Ed B WG

Question Number : 98 Question Id : 518120702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oG + Tl DI “HURd BT W T Bl 62
Options :




1. ¢ T Tila H UH, 31g, I8 3R AN 5|
2. % i Tia B TS R HHTA B

3. % I T & B 31 B, WA HA T
4. % ifP Tid H AN RIS § 3R HH uRyH B

Question Number : 99 Question Id : 518120703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Te” fordl TR &1 Teg 57

Options :

1. % T30

2. % FaH

3. ¢ fa=mor

4. % fopgriaRyur

Question Number : 100 Question Id : 518120704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B9 e U BT yafaardt g
Options :

1. % g

2. ® 3dle

3. Yy

4. % Yool

Question Id : 518120699 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

YR Tia H Sd1 ¢ | 31 g ot i FHIE 81T fob HRd 1 312 8, <Tiidl b1 a0 | 711, Sila 1 Ggofdl, WIHTIhT 3R 3MTa &1 Uclld
2| 981 HUe e 8, B LI 3 196 U9 € 0T B, ofie € ofie 8 1 A % i RIS §, B H § SIR e gu R wg S fadl & oruTe ITE
g1 3 Tlal & AR § 3R WTal § S § ISHMIT T11d D “URd BT W Hgl ol 5 |

Sub questions




Question Number : 96 Question Id : 518120700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S TR T I9Yad XY gFAT|
Options :

1. % Tial § YRd

2. % YRA & TId

3. % T[q SR R H YR

4. ¥ YRA 1 &

Question Number : 97 Question Id : 518120701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“HTa! H IEHT - T T AT 52
Options :

1. % IS 3R SFRIE B HTGT

2. % G 3R Hiad Bt yraT

3.  RT 3R JHYUT BT HIGAT

4. % HUC 3R FEd DI UG

Question Number : 98 Question Id : 518120702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG A T1a BT “URA BT WG FI Bl 62
Options :

1. ¢ i T1d H UH, $Te, I8 3R AM 5|
2. % P T T 3 IR FRTAT R

3. % i g o & 31 §, WadT HH 3|
4. % I T1a § AN TRIG ¢ SR HH URYH 5

Question Number : 99 Question Id : 518120703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

-3YTE’ fh T THR &7 Ueg 82
Options :

1. % G

2. % JIH

3. ¢ faQyor

4. % fgharforivo

Question Number : 100 Question Id : 518120704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DT Yo “FHRE BT YIRIGTE g2

Options :
1. % g
2. % 3dTe
3. Yy
4. % B
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Group Number : 6
Group Id : 51812018
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Disciplinel

Section Id : 51812020
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 51812024
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 518120705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the policy of education, which of the following developmental stage is the most appropriate to start exposing children to literacy
and numeracy?

Options :

1. * Adulthood
2. % Childhood
3. * Adolescence

4. ¥ Early Childhood

Question Number : 101 Question Id : 518120705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrem A P SR, 5= BT 31&RT 3R T3 BT 1 o1 I & 75 H F b =Ro1 & 3faial <1 Wraffeies Iuged ghar 82
Options :

1. % YdIdy®]

2. % dIcUIdRIT

3. % fhgRIEaRIT



4. ¢ ARIYF TG

Question Number : 102 Question Id : 518120706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The important thing to remember is that every child is
Options :

1. ¥ Unique

2. ® Ordinary

3. % Predictable

4. % Same

Question Number : 102 Question Id : 518120706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g7 G- aTell Agayul &1d I8 § fob Ui = BT g |
Options :

1. ¢ fafRry (Unique)

2. % AT (Ordinary)

3. % QaIHY (Predictable)

4. ® HH (Same)

Question Number : 103 Question Id : 518120707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of ECCE?

Options :

1. # Early care and childhood education

2. % Education care and childhood education
3. % Early childhood care and education

4. # Early childhood course and education



Question Number : 103 Question Id : 518120707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE &1 JUi U 37 87

Options :

1. % 37 B 'S EIEISEE Q\{,Iah Q- (Early care and childhood education)

2. ® TIHIH PR TS AZcags UdH T (Education care and childhood education)
3. 3[af EIESES] FR TS W (Early childhood care and education)

4. % 3cif EIESES] PR TS W (Early childhood course and education)

Question Number : 104 Question Id : 518120708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To comprehensively study the growth and development among young children, which method is most suitable?
Options :

1. ¥ Comparative Method

2. # Psychoanalytic Method

3. # Statistical Method

4. ¥ Developmental Method

Question Number : 104 Question Id : 518120708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIe =i § gf 3R faPh &1 Tueh 31ea o’ & forg HiH-3 fafd ey Sugad &2
Options :

1. % gD fafd

2. % HAfIRIUITEHS fafdy

3. % gige Y fafey

4. ¢ faTaTHS fafy



Question Number : 105 Question Id : 518120709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
While looking at the characteristics of young children, the preschool teacher can plan for?

a. Developmentally appropriate activities
b. Modifications based on children’s individual needs
c. Refusal against modifications

Options :

1. # Onlya

2. % Only b

3. % a & b both
4. % Onlyc

Question Number : 105 Question Id : 518120709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Be gl & ARy 7o &) Sa gu - d e g o @ &1 T Ao §91 I6hd 82

a fab™ D1 2P 9 Fuge Tidafafers

b. S| B! TG SHATH AT & TYR TR ALY
c. =Ml & vfd srgwafd

Options :

1. % Hdd a

2. % Had b

3. v’aG'ﬁTba:ﬁ

4, % Had ¢

Question Number : 106 Question Id : 518120710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To foster moral development among children which of the following actions by an early childhood teacher would likely be most effective in
providing training to them?
Options :



1. # Setting clear rules and setting strict boundaries

2. ¥ Through continuously modelling the child’s behavior through role plays

3. # Involving children into punishable and difficult situation for them to learn from experiences.
4. ® Giving rewards and punishments

Question Number : 106 Question Id : 518120710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S § A f9eT &) 9g1a1 ¢ & e IR areurawy1 & e gR1 Fgfafad § ¥ SH-91 S 39 9] &1 U180 UM &3 J Tl
3P gHTA! I

Options :

1. * Ty g9 3R Het A Ruifd B

2. ¢ it FaTg RId W) & J1eH ¥ 9 & HagR DI R SHR ol

3. % g Dl 3% U I Te- & [ S8 3R i T | oA
4. % RIDR AR TS &1

Question Number : 107 Question Id : 518120711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what age child should develop a mature pincer grip?
Options :

1. ¥ 9-12 months

2. % 6-9 months

3. % 24- 36 months

4. ® 12-18 months

Question Number : 107 Question Id : 518120711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fh 3 & SRM 9= & e Bt U S ASled 81 e 82
Options :




1.¥9Y 12HE
2. % 6H9HE

3. % 244 36 UG
4. % 12T 18U

Question Number : 108 Question Id : 518120712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To support children in not achieving obesity, parents need to practice one of the following on regular intervals?
Options :

1. ¥ Balanced diet

2. # Regular and strict diet

3. # Restricting the meal only to 3 in a day

4. % Enrolling them in multiple exercise based sports

Question Number : 108 Question Id : 518120712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= B Hie I 9 & e Ardr-foar o1 [Rfdd siqvra & g & @ o991 o1 S anfew?
Options :

1. ¢ &= 1 Hferd 3MER &l

2. % fufi 3R &1 MR &

3. % U9 a7 O had diF IR IS & &1 Safd o1

4. % Py T YR Wall H I8 A HAT

Question Number : 109 Question Id : 518120713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The age-appropriate growth, development and wellbeing of children defines that
Options :

1. # the children have a healthy lifestyle



2. ¥ the children are socially, intellectually, physically and emotionally healthy
3. % the children have age-appropriate height and weight

4. # the children regularly exercise and meditate

Question Number : 109 Question Id : 518120713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol B 3 F AR Iig, b SR Aga uRwfig wra gfr
Options :

1. % g} ®! g W §

2. ¢ T GG, Mg, TR 3R HITIHS T4 J W §

3. % ol B IdTS 3R ao Y & AR §

4. % g2 FOfig 0 Q s SR & o1d 8

Question Number : 110 Question Id : 518120714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The calculation of calories in the daily diet of young children should be based upon
Options :

1. ¥ Children’s age-appropriate calorie intake

2. # Combination of fats and sweets

3. # Complex carbohydrates and protein

4. ® Only vitamins

Question Number : 110 Question Id : 518120714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIC Fa@i & o ER H HaR] B 0T W 3R gt =feu|
Options :

1. ¢ S & TY-IUYS AR g

2. % 391 3R WIS & Ao




3. % SIfed HragRac 3R WA
4. % dHad [derd=

Question Number : 111 Question Id : 518120715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children’s diet should include more of
Options :

1. ¥ Whole-grain/high-fiber breads

2. # Cheese and snacks

3. % Refined grain products

4. ® Only fruits and vegetables

Question Number : 111 Question Id : 518120715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HAERA B 34 AET B TIfRUl
Options :

1. ¢ g TS/ BISeR dTall sk

2. % TR IR Hay

3. % URSHd 3N IS

4. % $Had B MR Jeoll

Question Number : 112 Question Id : 518120716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is having a positive well-being is crucial for young children?
Options :

1. # It helps support negative relationships

2. ¥ It is fundamental to their overall physical and mental health

3. # It promotes long-term learning benefits



4. ® Tt helps children to become introvert

Question Number : 112 Question Id : 518120716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 T & oI FHRIAS Ygd I} Agaquf 82

Options :

1. % Ug THRIAS Jaei o1 AT B4 H I8 g

2. ¢ g 31 U] ARG 3R AHRIS Wy & forg 3fcdd Aot 7 |
3. % gg prferes it @l & sgrar St 8

4. % O g I AqQ T & T ¢ |

Question Number : 113 Question Id : 518120717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FA® & [ UicIed S 3¢ §9u o Ay I AT o Ihdl ¢ |
Options :

1. ¢ 31 Iaq iR Afohd &0 & Wer

2. % gifeA 9 WA

3. % JTAGHAl Y H{YDH HIeH

4. % IA PIEERIC P HYH Ja-

Question Number : 113 Question Id : 518120717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Childhood obesity can be avoided by encouraging children to
Options :

1. ¥ Move more and play actively

2. # Play video games

3. % Eat more than they need

4. ® Eat more of simple carbohydrates



Question Number : 114 Question Id : 518120718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is most important to support child’s brain development?
Options :

1. # Proper eating habits

2. % Regular physical activity

3. # Complex mental exercises

4. % Nutritious and balanced meals

Question Number : 114 Question Id : 518120718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I o ARKTSH & [dhT W YeTad UaH HRA o forg Fuferiad & § o1 9ey 3ifie Agayqul 82
Options :

1. % G ®1 Ifad siad

2. % fygftg IR Tfafafd

3. ® Sfed AMRIS AT

4.« Ui 3R Tgferd oM

Question Number : 115 Question Id : 518120719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the energy requirement for newborn child?
Options :

1. # 120-140 kcal/kg/day

2. % 100-120 kcal/kg/day

3. % 100-150 kcal/kg/day

4. # 150-220 kcal/kg/day

Question Number : 115 Question Id : 518120719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Taoird g & e ufafea faaet ol &1 sraxaadr gidl 82
Options :

1. % 120-140 keal/kg/feA

2. ¥ 100-120 keal/kg/fG

3. % 100-150 keal/kg/f&

4. ® 150-220 keal/kg/feT

Question Number : 116 Question Id : 518120720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the formula used to calculate kcal/kg/day for measuring nutritive value in children’s diet?
Options :

1. # Energy (in Kcal) = 8x (Proteins and carbohydrates mass in grams) + 9 x mass of fat in grams
2. ® Energy (in Kcal) = 4x (Proteins and carbohydrates mass in grams) + 7 x mass of fat in grams
3. ¥ Energy (in Kcal) = 4x (Proteins and carbohydrates mass in grams) + 9 x mass of fat in grams

4. ® Energy (in Kcal) = 8x (Proteins and carbohydrates mass in grams) + 7 x mass of fat in grams

Question Number : 116 Question Id : 518120720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol o SR T TN P AT keal/kg/fG BT TOMT 634 & Y fordd G 1 SUTNT o ST g2
Options :

1. # FHuoli(Keal H)= 8 x(WICH 3R FHEIRIEST BT GHAM TH H) + 9 x 91 BT GHHM I H

2. % Fuli(Keal H)= 4 x(WIEH 3R FHIETEIESC BT GHHM UH H) + 7 x 99T BT GHHH I H

3. ¢ Fl(Kcal H)= 4 x(NET 3R HIETGISST BT SoTH M A H) + 9 x T BT GTHH I o

4. % Fl(Kcal F)= 8 x(WICH 3R BIEIEIESE BT Go0H UTH H) + 7 x I BT Goqd{= I H

Question Number : 117 Question Id : 518120721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Why do we need a strong and holistic ECCE curriculum for schools?
Options :

1. # To build knowledge and skills

2. # To cultivate curiosity among children

3. # To create safe and stimulating classrooms

4. ¥ All of the given options

Question Number : 117 Question Id : 518120721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&Y Wpal & fore Ueh URred IR THI ECCE UTSIhH &1 3a<adhdl 3f g2
Options :

1. % JH 3R DId H1 Aoy 639 & forg

2. % g | oI el A & forg

3. % A& 3R IRUTEAS BT S & forg

4. ¢ fQuTE fasmed! & 9 it

Question Number : 118 Question Id : 518120722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The early childhood education is also known as?
Options :

1. # Beginning childhood Education

2. % Infantry Education

3. ¥ Nursery Education

4. ® Kid’s Education

Question Number : 118 Question Id : 518120722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRS SrearawdT e & fg o 7 T +f S Sirar 82




Options :

1. % 3RIYD dTegrawT g
2. # TRy fRrenm

3.« TR Rreq

4. % forgy fRien

Question Number : 119 Question Id : 518120723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A strong ECCE curriculum includes

Options :

1. ¥ All domains of development- Social, Emotional, Physical, and Language
2. % All about healthy diet and nutrition

3. ® Multiple examples of dealing with classroom stress

4. ® Mental exercises

Question Number : 119 Question Id : 518120723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U® R4 ECCE UTeushd | M |

Options :

1. ¢ famr & gt &7 - I, HIgTHS, TRIRS 3R HIt®
2. % W IMER 3R U0 & IR H AW THBRY

3. % B P a9 Y e & U Il

4. % RIS A

Question Number : 120 Question Id : 518120724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The planned ECCE curriculum should promote environment.
Options :



1. # Competitive

2. ¥ Engaging and stimulating
3. % Hyperactive

4. # Structured and non-flexible

Question Number : 120 Question Id : 518120724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI ECCEUsTmAd  uRaw &l ggraT &A1 =T
Options :

1. % gl

2. ¢ IHYSD 3R NP

3. % 3ifd Fiby

4. % WRIF R IR

Discipline2
Group Number : 7
Group Id : 51812019
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Section Id : 51812021
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 518120725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Operation Blackboard program for primary schools is?
Options :

1. ¥ Related to physical and teaching learning facilities
2. % Related to admission

3. # Related to the mid-day meal

4. % Related to the blackboard

Question Number : 121 Question Id : 518120725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui faaraal & fo iR <iwdls ®deH gl
Options :

| v TR IR Rreror siftra el & e

2. % AR ¥ Yeifed

3. % g HivH ([Fre-s Hie) ¥ Jefdd

4. % KPS U A

Question Number : 122 Question Id : 518120726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Literacy as the ability to identify, understand, interpret, create, communicate, compute and use printed and written material associated with
varying contexts. Which among the following has given this definition?

Options :

1. # World Bank

2. % United Nations International Children's Emergency Fund
3. % United Nations Convention on the Rights of the Child

4. ¢ United Nations Educational, Scientific and Cultural Organization

Question Number : 122 Question Id : 518120726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fay d%

2. % TgEd Y SARTYT 1T HMITABTEA DIy

3. % T USRI TR YYerd MY JHTH

4. G Y QAfefep, AP R FRBTdD Y3

Question Number : 123 Question Id : 518120727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The understanding that spoken language words can be broken into individual phonemes is called
Options :

1. # Language awareness

2. ¥ Phonemic Awareness

3. % Reading and Writing

4. ® Sounds learning

Question Number : 123 Question Id : 518120727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

3. % U3 3R A%
4. % egf= fTH

Question Number : 124 Question Id : 518120728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Play as a medium of instructions is used for promoting development among children.
Options :

1. # Intellectual development

2. # Personal development

3. ¥ Holistic development

4. # Creativity

Question Number : 124 Question Id : 518120728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sifge faem

2. % HfeAITd faehr

3. ¢ THY [dry

4. % FoHRierd

Question Number : 125 Question Id : 518120729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which part of the brain is fully developed by birth?
Options :

1. # Cerebrum

2. % Limbic system

3. # Cerebral cortex

4. ¥ Spinal cord and brain stem

Question Number : 125 Question Id : 518120729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JARTSD (TRSH)

2. % Twid vome (feifdd Rieen)

3. % ARTSH-TiaRIT (IS D)

4. ¢ T T (WA H18) 3R AT TH (39 1H)

Question Number : 126 Question Id : 518120730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of Proximodistal development?
Options :

1. # Head to toe

2. # Toe to head

3. % OQutward to centre

4. ¥ Centre to outward

Question Number : 126 Question Id : 518120730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % JW Y A BT AR fawrg
2. % TR Y JR B! 3R [dp™
3. % SR Y ohg P 3R [Ab
4. ¥ &g Y eI BT 3R faer

Question Number : 127 Question Id : 518120731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Developmental process proceeds from?
Options :

1. #® Specific to general

2. ® Simple to easy

3. ¥ General to specific

4. ® None of the given option

Question Number : 127 Question Id : 518120731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAprras ufbar Bl R SRR A R
Options :

1. ® fafry @ Im=

2. % IRA Y A

3. I 9 fafkiy

4. % feu I fqsedl § A B3 151

Question Number : 128 Question Id : 518120732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The theory of learning process and social behavior used in ECE curriculum that proposes that new behaviors can be acquired by observing and
imitating others?

Options :



1. # Cognitive learning theory
2. # Attachment theory

3. % Social learning theory

4. ¥ psychoanalytic theory

Question Number : 128 Question Id : 518120732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TS STy Rigia

2. % 3fJaU® Rigid

3. ¢ AT SR Rigia

4. % FAIIRANUTEHS Rigid

Question Number : 129 Question Id : 518120733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While developing learning aids for children in pre-school setting, which is the most important criteria to be followed?
Options :

1. ¥ Age-appropriateness level

2. % Social-economic status

3. % Age and height

4. ¥ Report card outcomes

Question Number : 129 Question Id : 518120733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. ¢ TY-IUGId &R

2. % grAToTe-3nfie fRufa
3. % 3MTg 3R IS

4. % 3fh UF GRUMH

Question Number : 130 Question Id : 518120734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the most important aspect of a high quality ECCE learning environment?
Options :

1. # School/Political leader interaction

2. # Teacher/parents interaction

3. % Child/Parent interaction

4. ¥ Teacher/child interaction

Question Number : 130 Question Id : 518120734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % foERTSHIA® g BT URWRS Idig

2. % TR/ HTTS BT URWRS Idlq

3. % qId/MHYIID BT URITRS Jdlg

4. ¢ TR1&&H/ATdD BT URWRSD Hdlg

Question Number : 131 Question Id : 518120735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify one characteristics of play equipment that impacts lifelong learning.
Options :

1. #® Only tech-based



2. # Creative and complex
3. ¢ Stimulating and safe
4. ® None of the given options

Question Number : 131 Question Id : 518120735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % &Hdd dob-iie TR

2. % TTTAD SR Sifed

3. ¢ IR 3R Qe

4. % QU famedl H Y DI 01

Question Number : 132 Question Id : 518120736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Development among children occurs as an outcome of?
Options :

1. # Heredity only

2. % Environment and heredity

3. # Environment only

4. % Hormones and environment

Question Number : 132 Question Id : 518120736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % PHad TR

2. ¢ GIATERUT 3R TR




3. % PHad araraul
4. % I 3R gafaRor

Question Number : 133 Question Id : 518120737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tools for assessing children’s development in the ECE school setting should be based on?
Options :

1. ¥ Need and developmental-level

2. # Curricular

3. % Co-curricular

4. # Life history

Question Number : 133 Question Id : 518120737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 3IIHdl AR [THMN-TR

2. % Uy

3. % TGy JgIrHT Tfcfafe

4. % Sfig Sfdg™

Question Number : 134 Question Id : 518120738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Unoccupied play is also called as
Options :

1. % Solitary Play

2. % Pretend play

3. ¥ Free spontancous play



4. # Cooperative play

Question Number : 134 Question Id : 518120738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR WA (Unoccupied play) Eal 71-?[ CI SIS
Options :

1. % Tohid A

2. % DI Wd

3. ¢ Hod U W

4. % ggani @d

Question Number : 135 Question Id : 518120739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Assessments in ECCE should be in a coordinated plan for monitoring academic achievement of children from pre-kindergarten through
grade twelve its include summative, formative interim and classroom assessment.

Options :

1. ¥ Uniform

2. % Continuous
3. % Co-curricular

4. ¥ Spurious

Question Number : 135 Question Id : 518120739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ TUhYHIT (Uniform)

2. ¥ Ydd (Continuous)

3. % UI3Y GgmHt (Co-curricular)



4. % P (Spurious)

Question Number : 136 Question Id : 518120740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To foster the moral development among young children which of the following actions by an early childhood teacher would be most appropriate?
Options :

1. # Making children learn about behaviour rules

2. ¥ Helping children understand how their actions may affect others and consistently modelling their behavior through play

3. # Establishing a set of clear punishments and rewards at the beginning of the year in classroom

4. # Awarding or distributing chocolates to the children for supporting their good behavior for others.

Question Number : 136 Question Id : 518120740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 518120741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an ECE teacher recite a poem in an English language to the children, what is she actually planning to make children understand?
Options :

1. # Understand the importance of English

2. # Understand singing is important

3. % Familiarize children with new words and sounds



4. % Make them read

Question Number : 137 Question Id : 518120741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 138 Question Id : 518120742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Government of India recognised the significance of ECCE in the Indian Constitution in
Options :

1. # Article 44

2. % Article 47

3. % Article 45

4. ¥ Article 55

Question Number : 138 Question Id : 518120742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 518120743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TBLT is used for teaching a specific tasks to children. What is the full form of TBLT?
Options :

1. # Task-Based Language Training

2. # Task-Book Language Teaching

3. # Tool-Based Language Teaching

4. ¥ Task-Based Language Teaching

Question Number : 139 Question Id : 518120743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TR XS Adof ¢
(Task-Based Language Training)
2. % TG gP al Sl
(Task-Book Language Teaching)
3. % TO 98 oliael AfedT
(Tool-Based Language Teaching)

4. ¥ TR SIS civdel CIfeT
(Task-Based Language Teaching)

Question Number : 140 Question Id : 518120744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With an aim to create a language rich environment in an ECE classroom, a teacher should do one among the following. Identify
Options :

1. # Establish a technical lab corner in the class and make children learn about language through textbooks and worksheets.

2. #® Motivate parents to buy language games and activities, further making children perform these games on a daily basis.

3. ¥ Create an environment which is print rich and have immense opportunity for children to explore and experience language through various



activities.

4. ® Ask students to use only English or state language while communicating in the class with peers

Question Number : 140 Question Id : 518120744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 518120745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While framing to any ECE curriculum ensure one of the following.
Options :

1. ¥ Important learning and domain based areas are covered

2. % Only formal learning areas are covered

3. % No developmental areas are covered

4. % Only cognitive learning are covered

Question Number : 141 Question Id : 518120745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 142 Question Id : 518120746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Families and communities in India do provide a supportive role in making a stimulating learning environment because of
Options :

1. # Non challenging activities within the country

2. % Wide social and emotional diversity within the country

3. ¥ Geographic, social, cultural, linguistic and economic diversity within the country

4. ® Individuality, simplicity with religion and language

Question Number : 142 Question Id : 518120746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3R & HaR TR gAdgef nfafafiat
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4. % 4Tf 3R HIVT & Iy qafdderdm 3R 1T

Question Number : 143 Question Id : 518120747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary objective of ECCE programme?
Options :

1. #® Child should just feel safe and secure

2. ® Child should develop confidence

3. # Child should not be allowed to express openly

4. ¥ child is valued, respected, feels safe and secure

Question Number : 143 Question Id : 518120747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 144 Question Id : 518120748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The medium of interaction in ECCE program should be
Options :

1. ¥ Home language or mother tongue

2. % State language

3. # National language

4. ® Hindi or English only

Question Number : 144 Question Id : 518120748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TR DI HTST T HIGHTST

2. % ST YT

3. % MYHTYT

4. % b fgdl T 3Tt

Question Number : 145 Question Id : 518120749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ECCE recognize that children learn best through
Options :

1. # Studying



2. % Play and hands on activity
3. % Only Play

4. # Rigorous training

Question Number : 145 Question Id : 518120749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % g

2. ¢ W SR Tl & g1 geH

3. % had Wad

4. % HOR YA

Question Number : 146 Question Id : 518120750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the most important indicator while selecting learning material for young children, based on ECCE principle
Options :

1. # Children’s family background

2. % Children’s need

3. # Children’s religion

4. % Children’s economic status

Question Number : 146 Question Id : 518120750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % g pTYH
4. % g=i ot e fRufa

Question Number : 147 Question Id : 518120751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To minimize the gap between theory and practice and make children learn about various concepts, what type of planning is required?
Options :

1. # Cast-based planning

2. # State-based planning

3. ¥ Theme-based planning

4. ® Non-theme-based planning

Question Number : 147 Question Id : 518120751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?@iﬂaﬁzmﬂ%aﬂaamﬁwwﬁﬁﬁﬁﬁwmwﬁ%aﬁﬁwﬁ%mmwﬁmﬁ&mwsﬁ
)

Options :

1. % Sfa-3memia g

2. % JEARYT-SNYTRA ror1

3. ¢ fawgayq (dt) snemfia aiern

4. % IR-fqwgag @-41m) snenfed e

Question Number : 148 Question Id : 518120752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nature refers to the impact of an individual’s genetic inheritance or heredity, what does nurture means in child development?
Options :

1. % Nurture refers to the impact on the child’s development, due to individual’s environment.

2. ® Nurture refers to the impact on the child’s development, due to parental education only

3. # Nurture refers to the impact on the child’s development, due to school environment



4. ® Nurture refers to the impact on the child’s development, due to country’s growth

Question Number : 148 Question Id : 518120752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 149 Question Id : 518120753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which psychologist believed that action and direct observation were the best ways to educate children?
Options :

1. ¥ Rousseau

2. % Dewey

3. % Montessori

4. ¥ Froebel

Question Number : 149 Question Id : 518120753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 150 Question Id : 518120754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the agenda of developmentally-appropriate National Curriculum Framework for ECCE developed by the Government of India?
Options :

1. # to promote play-based, and child-friendly provision for early care

2. ¥ to promote play-based, and child-friendly provision for early childhood education and all round development

3. # to promote closed and secured indoor opportunities for early childhood education and all round development

4. ® to promote home based learning for the overall development of the child

Question Number : 150 Question Id : 518120754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 518120755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In ECCE, the mathematical concept ideally consists of flexible and play-based, learning concepts which comprises of
Options :

1. #® Counting and coloring

2. % Numbers, counting, shapes

3. % Addition and Subtractions

4. ® Geometry

Question Number : 151 Question Id : 518120755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ECCE ¥, 7ol 3raeRon # 3mexf U I dxiiell 3R Wa-3menid, IRa &t [gyRumd giet g forad M B
Options :

1. % TUMAT 3R T HRAT

2. YWY, UM, 3THR

3. % SN 3R UM

4. % SOifHfd

Question Number : 152 Question Id : 518120756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anima took out all the plastic bugs from the container and sorted them based on its colors and shape. Which pre-number concept is included in
this particular activity?

Options :

1. % Calculation
2. % Enumerating
3. ¥ Classifying

4. # Exploring spatial relations

Question Number : 152 Question Id : 518120756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR A HeR § Tt w@ilRed & Pig FdTa 3R 3% 37 T 3R SMHR & YR W Sie fomn| 39 favy nfafafy § SH-3f gd-gem
SR YA g2

Options :

1. % R

2. % TUM]

3. ¢ qEfRul

4. % R Gael Dl @IS



Question Number : 153 Question Id : 518120757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mathematical concept used to teach children about describing or drawing a location or direction is called?
Options :

1. # Patterns

2. % Spatial relations

3. ¥ Magnitude and direction

4. % Matching

Question Number : 153 Question Id : 518120757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl B fordd T a1 fa=m 7 qule a1 fod o9 & SR | g & forg Ui &t S arelt iR SIaeRon &l o1 H5d 67
Options :

1. % gidsyur

2. ¢ WIS ey

3. % giHTr 3R fa=m

4. % fora=

Question Number : 154 Question Id : 518120758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To improve children’s math, science, and general reasoning skills, one of the following is beneficial. Identify
Options :

1. % Blackboard

2. % books

3. ¥ Blocks

4. ¥ Crayons

Question Number : 154 Question Id : 518120758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i & T, fa iR I a SId H GUR HA o 1o, AT MU faweni #f § ue wraeHe g1 39 fdded &1 UgaH & |
Options :

1. % SpdlS

2. ¥ Qb

3. ¥ &l

4. % H3AH

Question Number : 155 Question Id : 518120759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the component in numeracy referring to aspects that can be measured and numerically expressed
Options :

1. ¥ Quantitative information

2. # Spatial information

3. # Qualitative information

4. % Relative information

Question Number : 155 Question Id : 518120759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O & I ICH DI UG Hx ol 34 Gg Qi B foreh Hrll & FoT T19T o1 Al § 3TN T TReATHAS =0 9§ e 61 off 9ahelT 6|
Options :

1. ¢ HETHD DRI

2. % RIS SHBRI

3. % TUHD DRI

4. % GUg THBRI

Question Number : 156 Question Id : 518120760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the material that can be used to teach numbers to young children.
Options :

1. ¥ Cereals and beads

2. # Bricks and stones

3. # Leaves and thorns

4. # (Clay and water

Question Number : 156 Question Id : 518120760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T fapedl & @ 39 AHRR & Uga™ &1 ST ST Bic o= &l BT R & fore fovan ot 9o 6|

Options :

1. ¢ 3T 3R H
2. % 32 AR TR

3. % U 3R Pic

4. % TS} SR Ut

Question Number : 157 Question Id : 518120761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The child's inability to see a situation from another person's point of view is defined as?
Options :

1. # Meta thinking

2. # Abstract thinking

3. % Egocentrism

4. # Bonding

Question Number : 157 Question Id : 518120761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreft 3= cafarT o f¥epTor A bt fUf b1 et & o=l Y Sieral ) fobe U o uReifia foba Sira 82

Options :



1. ® U fdaq
2. % 3 feddd
3. ¥ 3§hadiq

4, % gy

Question Number : 158 Question Id : 518120762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Providing the child with a variety of experiences/activities that are meaningful and in accordance with her/his maturational status is called
Options :

1. % Stimulation

2. % ECCE

3. % Children with disability

4. # Critical periods

Question Number : 158 Question Id : 518120762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl 1 I URUSHdT R & TR Sidquf sgyafafafiat gem e o1 weardi 82
Options :

1. ¢ UicTe

2. % YR STcdTaRAT @HTS Ud fRran

3. % fapei o=

4. % YR 3rafy

Question Number : 159 Question Id : 518120763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The early childhood educators offer some activities like painting, printing, sand play and then observe the children. This type of approach is
called

Options :



1. # Montessori based approach
2. # Theme based approach

3. ¥ Project based approach

4. # Blended approach

Question Number : 159 Question Id : 518120763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR STeaTawT & e o, SUrg, ¥d & Wd ok $3 MAafd &1 TareH $Rd 7, 3R R o= &1 e axd § 1 SYUaR &
BECAN K Ca SIS

Options :

1. % AT MYTRA efPhIum

2. % foerraeg (ofi) snenfed =fdaTor

3. ORI (Uiolae) TR SRS

4. % fofgd ef¥ior

Question Number : 160 Question Id : 518120764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the ECCE centre, which method should be used to orient children in the classroom settings?
Options :

1. # Family focused

2. ¥ Child-centered

3. % Teacher-centered

4. # Text-book oriented

Question Number : 160 Question Id : 518120764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE &g U, %&b JHRINGH J S Bl 37 dhRA o (o forg ugfal &1 I fban s anfgwe

Options :




1. % gRaR dfad

2. ¢ 91d igd

3. % fRuefdh-dhiad

4. % UI3Y-J&d® 39
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Question Number : 161 Question Id : 518120765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method focuses on enabling the child to grow through imagination?
Options :

1. ¥ Waldorf Method

2. % Montessori Method

3. % Reggio Emilia Method

4. # Playway Method

Question Number : 161 Question Id : 518120765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I Heg=T & TenH O g D) G RId B H Garm a9 W Hfed o2
Options :

1. ¥ aresit fafey

2. % HicH fafy

3. % o ufnferan fafy

4. % Qq fafy

Question Number : 162 Question Id : 518120766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these are the example of imaginative play /Dramatic play material?
Options :

1. % Dolls or puppet

2. # Slates or chalks

3. % Blackboard or drawing paper

4. % Bat and Ball

Question Number : 162 Question Id : 518120766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafeiad faeedl & § HH-T1, Heu-Tiid Ta/AeHh i Qd Il &1 IeTeR0T 82
Options :

1. ¢ ST T HAYdail

2. # Wi g adTH

3. % KPS I ST IR

4. % oIl 3R T

Question Number : 163 Question Id : 518120767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one the following is not an ECCE initiative by the Government of India?
Options :

1. ¥ Integrated Child Development Services (ICDS)

2. # Head Start

3. # District Primary Education Programme (DPEP)

4. # Sarva Shiksha Abhiyan (SSA)

Question Number : 163 Question Id : 518120767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead 7 ¥ -3, YRd ISR & ECCE Ugd 781 82
Options :

1. ¢ Uhlghd aTd fd ™ 9aTU (ICDS)

2. % B WIS

3. % foram urifiies e w1 H (DPEP)

4. % 9 FRref R (SSA)

Question Number : 164 Question Id : 518120768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which screening tool can be efficiently used for mapping the infant and children’ growth and development?



Options :

1. # Achievement Test

2. ¥ WPPSI

3. % Ages and Stages Questionnaires

4. % School Readiness Instrument

Question Number : 164 Question Id : 518120768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R el &1 gig iR AT &1 BT 3 foe forg Shif1 ot &1 HRIcIdTgd e SUART i S wehdl 52
Options :

1. % JUcIe GRET

2. % WPPSI

3. ¢ 3 3R TR0 G

4. % fIgTerg IR Ay

Question Number : 165 Question Id : 518120769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nutritional blindness results due to deficiency.
Options :

1. # Vitamin C

2. # Vitamin D

3. % Vitamin B

4. ¥ Vitamin A

Question Number : 165 Question Id : 518120769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 3 fpge et @ 2RI 81 Yabdll 82

Options :



1. ® faerfi= ¢
2. % faerf= D
3. % fgarfia B
4. ¢ fqeTfiq A

Question Number : 166 Question Id : 518120770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Protein energy malnutrition (PEM) in children is part of growth retardation and it leads to .........
Options :

1. ¥ Kwashiorkor

2. % Diarrhea and dehydration

3. # Shortage of vitamin D

4, % Shortage of Calcium and vitamin A

Question Number : 166 Question Id : 518120770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g § Ui So1l $UNUT (PEM), fAsT HedT &1 81 T T&f01 3, 39 TRR H 3R 31 8) Tehall 82
Options :

1. ¥ BIRARDR

2. % X 3R FoieliaRo

3. % {4CI®F D &1

4. % PRy 3R fIeTEA A B Bt

Question Number : 167 Question Id : 518120771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children performing the task of placing things in a serial order is called
Options :

1. ¥ Seriation



2. # Conserve
3. % Egocentrism

4. % Animism

Question Number : 167 Question Id : 518120771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FA gRIASI S FAATA BB Bl gl
Options :

1. ¢ b HAGdl

2. % TREJUT

3. % 3Ehudlq

4. % gafadrg

Question Number : 168 Question Id : 518120772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
refer to the processes that allow us to guide, regulate and supervise our own learning activities
Options :
1. ¥ Metacognition
2. # Aesthetic and creative expression
3. % Person’s perspective
4. % Reasoning Skills

Question Number : 168 Question Id : 518120772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 ufsharail o) Geftfa dxar & o g s siftrms wfafafer o1 Anfaef, faftame ok widem o &) srgufa 2 1

Options :
1. ¢ SEE (HTDIIR)

2. % HATHD 3R IIATHD Al




Question Number : 169 Question Id : 518120773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of development the child is egocentric?
Options :

1. ¥ Preoperational stage

2. # Concrete operational stage.

3. % Formal operational stage

4. # sensorimotor stage

Question Number : 169 Question Id : 518120773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fahT & for oRUT T Sl 3§ ohfad B oIl 82
Options :

1. ¢ Ud-HfshaTaes =Rl

2. % T Wfharae arul

3. % U= AfohaTd® ROl

4. % R =GR

Question Number : 170 Question Id : 518120774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The quality of an inclusive early childhood program is dependent on which of the following factor?
Options :

1. ® Teacher’s economic background

2. % School location

3. % Program and curriculum structure



4. # Student’s family background

Question Number : 170 Question Id : 518120774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT YRS S9U BRichH & Turam Aufifad # 9 ford Re W R et 82
Options :

1. # e 3t afdes ggyfH

A CCINECIRIIC]

3. ¢ fawy 3R UTSgshH TR

4. % B DI UIRATRD EYH

Question Number : 171 Question Id : 518120775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pedagogy is a/an

Options :

1. % Art

2. % Science

3. % Applied science

4. % Home Science

Question Number : 171 Question Id : 518120775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRI&TRIRA (Pedagogy) Th —% |
Options :

1. % hdl

2. % fagm

e GRIRCACRIE

4. % Tg fagm




Question Number : 172 Question Id : 518120776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An environment where the child gets favorable experiences is also called stimulating optimal or enriching environment while an environment
where the child has unfavorable experience is called

Options :

1. # Unfavorable atmosphere
2. ¥ Deprived environment
3. % Poor environment

4. ® Structuring environment

Question Number : 172 Question Id : 518120776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I aTaTaRT & 9= B 3gHd U FHad §, I RS SPAH 1 TG aTdaRul H ST SI1d g, S for ardiakur & a2 &1 ufddd
3qva firea g 39 Hgl STl g

Options :

1. % Yfddbd ardraro

2. ¢ G qrareRul

3. % WRIS dTdTaRul

4, % TR ATATGR]

Question Number : 173 Question Id : 518120777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Government of India (GOI) focuses on strengthening of AWCs and making the ECD centre much
Options :

1. % Stylish

2. ¥ Vibrant

3. #¥ Colorful

4. % Monochrome



Question Number : 173 Question Id : 518120777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA WHR (GOI) TSI Hal (AWC) BT Holgd B SIRECD HE HI 3fYF  §9H W & dbfgd Bl o
Options :

1. % QYA

2. ¥ Sidd

3. % Wi

4. % THN

Question Number : 174 Question Id : 518120778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the ECD principles the ECE Classroom should measure for a group of 30 children
Options :

1. # at least 30 square meters

2. % atleast 35 square meters

3. % at least 40 square meters

4. ¥ at least 45 square meters

Question Number : 174 Question Id : 518120778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECD RIGidl & SMYR IR ECE HeHI 30 Tl b g b [ AU &1 g1 AMg T
Options :

1. % HYYHY 30 I dlex

2. % HHYHY 35 1 Ul

3. % HHY DT 40 I U

4.« HUY HH 45 F HieR



Question Number : 175 Question Id : 518120779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not the corner that is significant to be created at the Anganwadi centre?
Options :

1. # Reading corner

2. % Dramatic play corner

3. ¥ Make-up corner

4, % Music corner

Question Number : 175 Question Id : 518120779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Bg H Fufafad & 9 HH-91 11 941 g1 A1efes 8t 82
Options :

1. % g BT Dl

2. % FICH W BT Bl

3. ¢ R DI

4. % GIfld BT DT

Question Number : 176 Question Id : 518120780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To make the ECE classroom print-rich and engaging for children, what is essential to display on the wall of the classrooms?
Options :

1. # Body parts charts

2. % News papers

3. % Magazine covers

4. ¥ Children’s artwork and projects

Question Number : 176 Question Id : 518120780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ECE ®&f1 &1 flie-q0g 3R s & fou sfiede a1 & forg, wemsfl &t Slar IR a1 U Rid AT S1axad ]2
Options :

1. % YRR & 3T fe@™ are =ré

2. % JHER TA

3. % WO HaR

4. g B HATHIA R Tolae

Question Number : 177 Question Id : 518120781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The material prepared in the classroom should be and to enhance accessibility and inclusivity in the classroom?

Options :

1. ¥ Age appropriate and need based
2. % Hard textured and dry base

3. # Light color and only paper based
4. ® Bright and audio/visual based

Question Number : 177 Question Id : 518120781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HET T JAHT AR THARIA Bl IG & 7T Ham § R BT 18wt 3R HRIEIEY
Options :

1. ¥ 3 & TR, ATl TR

2. % HAR §EC, T YR

3. % goob W1, Had HITS YR

4. % JADER, HT/EY YR

Question Number : 178 Question Id : 518120782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the activity that creates a sense of belongingness among the children.
Options :

1. % Story telling

2. # Rhyme session

3. # Creative activity

4. ¥ Circle time

Question Number : 178 Question Id : 518120782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu e fawedt & 9 39 Al &t ugam & S g=di § ST &1 YT Uel FHRal o |
Options :

1. % B U6

2. % HiAdI UIS ¥

3. ® JATHSD Tfcifafe

4. ¢ R FAHR G0

Question Number : 179 Question Id : 518120783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose story books that reflect the diverse groups of children with different needs, sizes and disabilities people in the world. This helps children?
Options :

1. % Learn about trends

2. % Learn to be social

3. % Learn about diversity and needs of children with disabilities

4. % Learn to be cautious from children with disabilities

Question Number : 179 Question Id : 518120783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Her o1 T fopars g ot gfvan 7 st srazgerdrai, MTeRY 3R [y =it & fafae Tgi & il &1 U8 = B Aeg $a Bl 82

Options :



|. % 3 SAM & R H oFd 5|

2. % IS BHT TIEd g |

3. ¢ faai 5= @ fafayan 3iR sawadmarsfi & IR H o ]
4. % fQopdn s Q gy I8 IRad Bl

Question Number : 180 Question Id : 518120784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indoor space has to be designed such that it should have
Options :

1. ¥ one entry and one exit

2. % Jot of open space

3. % unreachable windows

4. % Only one door

Question Number : 180 Question Id : 518120784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SAN® VI (3SR W) B! 39 bR feug- fear o1 =i fs I9H HRIELEY
Options :

1. ¥ U Ja% AW 3R U e Anf

2. % §gd 9RI Gdil g

3. % Ty fYsfear

4. % Hdd U GdloT]
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Question Number : 181 Question Id : 518120785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is most important activity while assessing young children on their early learning outcomes?
Options :

1. ¥ Continuous observation

2. % Critical and strict feedback

3. * Logical analysis

4. % (Case study

Question Number : 181 Question Id : 518120785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Be Il & RN e gfomet &1 R Ha g7 g8 Aeayuf nfafafer aar g2

Options :

1. ¢ Fad aqaldh-

2. % JTARHTIHD MR Hal ufafear
3. % QI fazayor

4. % HY TS

Question Number : 182 Question Id : 518120786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of these preschool materials can be used for making a concept clear to ECE classroom?
Options :

1. ¥ Blocks and puzzle

2. % Wood

3. % Switch Board

4. % Pillow

Question Number : 182 Question Id : 518120786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECE %&fT H U 3URUN &I WF H & oy Fgfafad fawet & 9 o 3t ti-pa Imeh &1 uanT farar o gt 82
Options :

1. ¢ Sl 3R ToTd

2. % dhal

3. % g ae

4. % dibar

Question Number : 183 Question Id : 518120787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Early childhood education teaches young children about?



Options :

1. % Care about roads

2. % Cooperation and team spirit
3. # Bad habits

4. % Games and addiction

Question Number : 183 Question Id : 518120787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ST o1 R1g BT sl o1 fvd IR & Rrardt g2
Options :

1. % TSH| U Iyt

2. ¢ GEANT 3R AR TG

3. % 1 3rad

4. % Q9 AR qd

Question Number : 184 Question Id : 518120788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To have a conducive teaching and learning environment, what is most essential to be provided to the ECE educator?
Options :

1. # Peace

2. # Utensils

3. ¥ Resources

4. # Food

Question Number : 184 Question Id : 518120788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S FRAE0T 3R ST HIEId S & oY, ECE R1efe &1 a1 Ue foam ST ga Sifiids awad g2

Options :




1. % Thifd
2. % TR I
3. ¢ Y
4. % YoM

Question Number : 185 Question Id : 518120789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The prerequisite to set-up a stimulating ECE space as per governmental norms is
Options :

1. ¥ Safe building and infrastructure

2. % Maintenance and organization

3. # Location

4. % Raw Materials

Question Number : 185 Question Id : 518120789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRBHRI AFCS! & IR U IR ECE I RIMUT A &1 Gardad 31 82
Options :

1. ¢ RI&T Ya 3R SMTURY TR

2. % IWWMG 3R TR

3. % A

4. % ddl HIA

Question Number : 186 Question Id : 518120790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the following allow young children to develop sensitivity towards other children.
Options :

1. % Mathematics



2. # Assessment an evaluation

3. % Block play
4. ¥ Storytelling and art

Question Number : 186 Question Id : 518120790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafiad fawedl & @ 39 fadmed &1 99+ &3, S BI¢ T=! & 3= g & fd Yag-=iadr s Rid &3 & gfaur arg|
Options :

1. % Tforg

Question Number : 187 Question Id : 518120791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To make young children become aware of their surroundings and develop interest in their environment, what is required to be done in the class?
Options :

1. % Lectures

2. % Hands-on learning experience

3. # Audio training

4. ¥ Art work

Question Number : 187 Question Id : 518120791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIC Tl Bl U SHTY-UTH & IR H SRS DR IR 30 TATaR 0l | i faanRid s & 1w e 1 ar foan s anfew
Options :

1. # URA

2. ¢ TR SHIYTH SrgHa



3. % gy PiRIefu
4. ® FEpa et

Question Number : 188 Question Id : 518120792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LEGO promotes among children?
Options :

1. # Close-ended play

2. % Pretend play

3. ¥ Constructive play

4. ® Dramatic play

Question Number : 188 Question Id : 518120792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LEGOSEI &g dIggaradgl
Options :

1. % T 3afy ared W

2. % DI Wd

3. ¢ THTHS W

4. % qCHIY WA

Question Number : 189 Question Id : 518120793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be done to make an early childhood education centre inclusive?

Options :

1. # By ignoring children with disabilities in the classroom

2. ¥ Creating enough learning opportunities for children with diverse needs in the classroom

3. % By teaching all the children in the same way



4. # Creating a competitive classroom environment

Question Number : 189 Question Id : 518120793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URIYS STearayT e g &1 IHIAN 99 & fore o favam S gevar 82
Options :

1. % wHe H famdi = &I SUT BT

2. ¢ He | fafay smawgedrsii ara 9=t & o afe IfRT S/aR e &A1
3. % Ut I o UM dRio I UgHT|

4. % H&f BT AaraR0r Ufaegeff =

Question Number : 190 Question Id : 518120794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the role of teacher in an inclusive education?

Options :

1. # Teachers should devote extra time to make a concept clear to a child with disability
2. ¥ Teacher should not pay attention to differently abled child

3. # Make adequate seating arrangements

4. ® Teacher should encourage the children to explore and experience

Question Number : 190 Question Id : 518120794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR fRren # fRufead faeeal § @S-, Riere & yirer 781 82

Options :

1. % TRrap! &I (A:31ad T B STYRUN WY B o forg SifaRed g0y &1 anfzu
2. ¢ fRgfep feegivn o=l R = G|

3. % 9 & qYfId TaRIT B |

4. % TR1&f B Tl DI AT B R SIHT PR b (AT WedTled BT Mgy




Question Number : 191 Question Id : 518120795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of ECI services in ECCE?
Options :

1. # Every Indian citizen

2. ® Election Commission of India

3. ¥ Early Childhood Intervention

4. ® Early Care Intervention

Question Number : 191 Question Id : 518120795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE & ¥ H, ECI arsfl &1 uf U &1 g2

Options :

1. % Qaﬂ é%qﬂ Rifes (Every Indian citizen)

2. ® ‘ic}ldﬁl"l HHITA 31=|J'C|’7 ‘é%ql (Election Commission of India)
3. ¢ 3l EIEISEES] éce&'&m (Early Childhood Intervention)

4. % 3 HIR ST (Early Care Intervention)

Question Number : 192 Question Id : 518120796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Using play materials that are available in the child’s surrounding like sand, pebbles, blocks etc are used to enhance their
Options :

1. ® Smartness

2. #® Creepy behaviour

3. # Team spirit

4. ¥ Imagination and creativity

Question Number : 192 Question Id : 518120796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I & HY-UN IU W AT oI X, s, ek (saAldh) 3fe BT ITTNT I (3701 DI Tg & forT fopa SIraT |
Options :

1. % g

2. % S TAER

3. % g () Y-

4. ¢ BT 3R TATHBT

Question Number : 193 Question Id : 518120797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Early years are said to be

Options :

1. # Over sensitive period

2. % Critical period

3. % Unsuccessful period

4. % Slow- growth period

Question Number : 193 Question Id : 518120797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Id A F URME asfdl  HEISErg|
Options :

1. ® 3ffeeh HdeTitel 3rafe

2. ¢ TR sfafy

3. % 3 A

4. % iHl-fapry sy

Question Number : 194 Question Id : 518120798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Early reading and writing is called
Options :

1. #* First generational learning

2. % Learning by doing

3. ¥ Emergent literacy

4. % Functional literacy

Question Number : 194 Question Id : 518120798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG UGA-ATA DI STVl
Options :

1. % Ugdil Uit o1 3ifenmH

2. % fohareieh I

3. ¢ DD &R

4. % HTITAD &R

Question Number : 195 Question Id : 518120799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the National Education Goals on Early Childhood Assessment (1998) guidelines, assessments in ECCE should be
Options :

1. # Tailored with no specific purpose

2. % Complex and detailed

3. ¥ Reliable, valid, and fair

4. % Biased — gender, culture, caste based

Question Number : 195 Question Id : 518120799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T & Yot TR AP e A8 (1998) & fe=nfAde & 3R, ECCE H gl FRIEIEY




Options :

1. % fom fopeft faR¥ry SExa & org&T

2. % Sfed 3R fawga

3. ¢ Tayag, 9y SR <Rt

4. % foiT, Seapfal, SITfcr SMeTRA & STUR W

Question Number : 196 Question Id : 518120800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children of Maharashtra have toys made out of
Options :

1. % Jute

2. % Paper

3. ¥ Wood

4. % Tron

Question Number : 196 Question Id : 518120800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TERTY & gl & U Yo RIAA BIa B
Options :

1. ® 9

2. % DI

3. ¢ Adhol

4. % dig

Question Number : 197 Question Id : 518120801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Action Plan for IE of Children and Youth with Disabilities (2005) focusses on which major aspect?
Options :



1. # Access to children in anganwadi nearby
2. ¥ Access and admission to every child in an anganwadi and school irrespective of disability.
3. % Adaptive strategies for inclusion of all children

4. ¥ Effective inclusion in selected states

Question Number : 197 Question Id : 518120801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeperT s=a 3R garsif & 1E & fo & TS (2005) f5 e TG Ugq WR i 82
Options :

1. % IO & fHaTS! d 9odi &1 Ugd

2. ¢ A 81 R, UdS I B HTaTS! 1R faemerd o ugd iR ua x|
3. % gt Sl ol A AR & AT Srgepalt XoFferr

4. % I I H YT GHGR

Question Number : 198 Question Id : 518120802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability to understand the quantity of a set and the name associated with that quantity is called
Options :

1. ¥ Number sense

2. ® Pre-number sense

3. # Logical sense

4. % Mathematics sense

Question Number : 198 Question Id : 518120802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol T P AT SR 39 A ¥ I3 A1 &) JHSH B &l ol CaESIGIE
Options :

1. ¢ W1 A




2. ® g4 ang
3. % dlfched A
4. % O D gAS

Question Number : 199 Question Id : 518120803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Commission for Protection of Child Rights (NCPCR) considers a child as a person who is in between the age group
Options :

1. % 0-12 years

2. % 0-14 years

3. ¥ 0-18 years

4. % 0-10 years

Question Number : 199 Question Id : 518120803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS T SHTEBR TREUT ST (NCPCR) T 7 Bl b UY Afad b U H AIAI Gl g, ol SR p ara H gl
Options :

L% 0¥ 129y

2. % 0¥ 1479

3.0 189Y

4.% 091099

Question Number : 200 Question Id : 518120804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the below stated that the language development occurs through operant conditioning?
Options :

1. # Lev Vygotsky

2. % Noam Chomsky



3. % B. F. Skinner
4. # Jean Piaget

Question Number : 200 Question Id : 518120804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“UTST T faohT TfehaTeHs SEHa & A1 ¥ BT &7, I8 H el o 3 feas g2
Options :

1. % od Al

2. % 17 ARI

3. ¢ &l T, RPN

4. % S fOgTel



